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99 9 &1 / Que. Paper No.:  111/24-25/ P-8-3 /

T\Tﬁﬁ / Max. Marks - 100

fasa /Subject - T/ Mathematics

@949 / Time - 3 ©e1/3 Hours

gl @ RFaFama (v) g & -

Put a (V') mark against the correct option -

1. o= ¥ Iea d % g R 9 TR HE hed & 99 w-

Identify the set of non prime numbers in the following and select the correct

2x10=20

option -
(i) 35 (i) 9w 15 (iii) 11T 15 (iv) 17919
3and 5 9 and 15 11 and 15 17 and 19
(3)  FaS (i) (3N HaS (iv)
Only (i) Only (iv)
@ i () W (iv) @)  *ES (ii)
Both (i) and (iv) Only (ii)

2. fmAdTEaEis?
Which of the following is not true ?

(3) 2 x32 FAA18TI
The value of 2 x 32 is 18.

(3M) 16 =4 x 22

(3) TR GH &4 W I H &1 T T 2 |

When the bases are the same, the powers in multiplication

decrease mutually.

('EE) 312 32 — 314
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3. 54 2°®wAME-

The value of 5° + 2%is -

&) 5

® O

(&M 7

®) 2

4. =Tk 7xy H xy FIONE & -

The coefficient of xy in the expression 7xy is -

() 7x

® 7

(=M 7y
@) A HE &

None of these

5. fERddfq-a a9 a8I8?

Which of the following statement is correct ?

(@) 8100 FFHS90E |
The square root of 8100 is 90.

(M) IFMPIZEWIF TS 9 T2 |

The square of 9 is 3 but the square root of 3 is not 9.

(8) 5T 6% N FH: 36 W25 |
The square of 5 and 6 are 36 and 25 respectively.

@) 25HF5EAAM5F NS 257 |
The square of 25 is 5 and the square root of 5 is 25.

6. O TG H O i T &l & -

Number of diagonals in a quadrilateral is :

() 4 (3m) 3
@ 0 @ 2
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7.  GHIE x + 4 = 7 H x FTHEEET |

The value of x in the equation +4 = 7 .

) 1

&) 4

(M) 3

@ 2

8. fEAaw--aEcaadIe?

Which of the following option is correct?

(3) 90 F25% = 25 (3M) 80 H25% = 16
25% of 90 = 25 25% of 80 = 16

(3 800 F 30% = 240 ) 40 F1100% = 400
30% of 800 = 240 100% of 40 = 400

9. FEAATA-TTTEIE -

Which of the following formula is correct

() T H EEIHRS = Y x T

Area of square = side x side

(1) ﬁﬁ?lﬂﬂ%ﬁ%:zi(amr{xa‘”ﬁé)

: 1 :
Area of triangle = Y (Base x Height)

(3) Ed GRS = SHE x ISk
Area of rectangle = length x breadth

@) SEw A / All the above three

10. —%qar?ﬁmm%??m 21T -

The additive inverse of — % will be -

@) 2 (= -2
® -3 @ -
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v2. % Tl A 9fd F19 —/ Fill in the blanks - 5x2=10
1. %am TOICHE TAAH = (oo )
Multiplicative inverse of% = (e )
2. —(a+b) =
3. gE T STE SR SIS i Hhac T GH GHIACED, o, FEHAE |
A quadrilateral whose only one pair of opposite sides is parallel is called
4, Q@ TSt (STt S T e T HESTT & |
A polygon in which the diagonal is exterior is called an .................... polygon.
5. FAREEFEAA oo T IRET EE g 2 |
...................... number between two rational is a rational number.
u.3. frrfoiad 5l % o™ T faan ST — 1x5=5
Consider matching the following pairs -
1.  x%y3#Hy3 RIOIH ®x
Coefficient of y3 in x2y3
2. 20&120% 9 2
20% of 20
3. OA % TS i T4
Inverse operation of Cube
4. OF O H I A S a9 x?
Number of vertices in a cuboid
5. Oa9 DI SR T § . S
The smallest prime number is Cube root
e
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9.4.

9.5.

T / G FI W =R AR —

Consider the true / false statement -

1x5=5

NN N

@il a9, oTd &d E

All squares are rectangles.

91 1 R I R &l 2

All sides of a square are equal.

forell foree e 1 94 O GH d@ 1 &l 21

Cube of an odd number is an even number.

TSI ST AT F TR I frsra Fad £

The sum of principal and interest is called Amount.

S 1 9%k YS9 &9%S = 2nrh BT

Curved Surface Area of a cylinder =2nrh.

ferafesReara STRcR T AT A SHRS Fd A H1 G foiaw -

1x5=5

Write the name and formula to find the area of the following figures -

% ST/ Figure  3TRI &1 AMH/Figure Name %S/ Area

1)

EANI
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Very Short Answer Type Questions -

1. 33 T d FIT | / Find the square of 33.

2.  F® 8xy IR 12xy FIPH T | / Multiply expressions 8xy and 12xy.

3. HAMEIEFIT | / Find the Value. 32x2x5

4., &S &L\ / Solve. 3x+1=7
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5. 168487 F dNiE T ®L | /Find the bijank of the number 68487.

6.  =eghs AT Fl IO Fild H1 G [SRIT |

Write the formula for calculating compound interest.

Cn ¢

7. A (Y TH

12 X 15

H3 8N &8 &ietd/ Solve by Urdhvatiryagbhyam formula -

8. g ® ¥4 F1 @HEIA & 2/ What do you understand by polygon?
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9.  TFAlHRAd EEAT Hl HIFE &9 H Zh Y -

Express the following number in standard form: 0.00027

10. A & & 5004 H 42 1 9T $HANTRS T 2GRS Fd Hile |
Find the quotient and remainder by dividing 5004 by 42 using the

dhvajaank number method.
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Short Answer Questions -

o

1. oo g %1 1 GuEd §u, St 95 % &R 3375 H1 SRHS J1d e |
Explaining the meaning of Vilokanam formula, find the cube root of 3375 by

the above formula.

2. AIEAY G H1 3 THA gU, 7 RS T FfT -

Explaining the meaning of the Anurupyena formula, find the following

product -

525 x 525
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3. [o 9 & o1 Kl GHTA Y, fod T U i &S Y -

Explaining the meaning of the following shloka, solve the given question-

GHEEAS 99 9<8: i 999 TR |

5% +4

4. T HIUT (x) H1 A Fd F) / Find the value of the unknown angle (x).
1 700 500
600 X
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5. WS HNT / Simplify: — X = +=X =
4 5 5 4
07, & IOl us - Long Answer Type Questions - 5x4=20

1. S A3 TR 6 HE H WA € I & H 4 TR G 3 H el @9 SR 2
A tank is filled with 3 pipes in 6 hours. How much time will it take to fill the
same tank with 4 pipes?
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SN

92 Tfcsa™ Iooid I T TR H TR0 F STwvid 25% SIHA, 15% =1| Je 39
SIS o UrE ST | T gl ki w80 &, 7|

In a Pathshala of Veda Pratishthan Ujjain, 25% Jamun plants, 15% Neem
plants and the rest Peepal plants, have been planted under plantation

programme. If the number of plants is 80,

NN e

1) S & qrai & S fShaet & ?/ What is the number of Jamun plants?
2) A9 % graf 1 ST ol 8 ?/ What is the number of Neem plants?

haN N D

3) SR W A % Gl ST T E 2

What is the ratio of Jamun and Neem plants?
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3. I UF 4 H AW 14 Gt 7 R 5 T B, o IR THUT 98 HT GRS AN A

A i)

If the diameter of a cylinder is 14 cm & height is 5 cm, find its total surface

area and volume.

13
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4, {9 3 O % g0 U TS F TR F GHE |
Explain the concept of square and square root with the help of following
Veda Mantra.
WA A A I @I G IA QI A @I A T AHS WEATHS
THIG 9 H SIGET o # iR 9 A T9eR 9 H THEeRI 9 A Haex 9 A Hacx 9 H e 9 7
A A H U ¥ Tk W S THid ¥ T 7 T ¥ Tifrd W S ¢ Fio 7 9= 3 ¢
lc W = ¥ Ffered 7 a6 3 < Tford & qaf < Tl | @i < Tl A Fal < a7 s
O T X TR A S ThHE < T H TR ¢ T H T hededr, |

14
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